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Please check whether you have got the right question paper. i

N.B: 1. Q 1 is compulsory. _ R
2. Attempt any three from remaining SRS -‘.“,. s
3. Rights indicate full marks. SHE RS

A F“md transﬁme cleuse;: of féﬂbwing relation defined on A= {a,b,c,d,e} by Warshal 06

v e st () @8 B0) 0D €I

e 5 A manSpeaks truxh 3 tﬂncs out of 5 when a die is thrown he states that it gave an ace what 08

¥ -1& probablhty that thls ‘event has actually happened.
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Hwan:

b. Solve using Laplace transform
arz =2 + 9y =18giventhaty (0)=0andy (—-)—0

C. Evaluate (1) L { ‘,%] . o

a1 [ 2s%-6s45
ok {53—6334-115-—6}

~6an_, forn>2 -&;)_.;_._.(j, .a;,-'-—.- 1

v

6. Solve a,, = 5a;-_4
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